M. and AE for Signal and Control

channel
1.0 M events for both signal and control channel.
B - KT J*
T - TU Vy
B* - Jhp K*
Jp -t
For both Signal and Control channel.
B- - generic
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Cuts In the signal reconstruction
program

* Mii> 0.7 GeV

* abs(mp-3.1) > 0.015 GeV

e 1.6 < Mhagroe < 2.4 GeV

* abs(cos(Pstag,Pagyis)) < 2

* abs(sin(Phi)) < 1.5



Cuts In the control channel
reconstruction program

* MVA photon cuts

* 1.6 < Mhagroe < 2.4 GeV
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DeltaE_Bsig with abs(cos(PBtag,Pvis))<1 and Rank 1
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DeltakE_Bsig with abs(m_hadROE-1.86)<0.015, abs(cos(PBtag,Pvis))<1 and Rank 1
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Mbc_Bsig with abs(sin_phi)<1 and Rank 1
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deltakE_Bsig with abs(sin_phi)<1 and Rank 1
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